

Zeitschrift: Elemente der Mathematik
Band: 43 (1988)
Heft: 3

Artikel: A new geometric inequality
Autor: Abi-Khuzam, Faruk
DOI: <https://doi.org/10.5169/seals-40803>

Nutzungsbedingungen

Die ETH-Bibliothek ist die Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Zeitschriften und ist nicht verantwortlich für deren Inhalte. Die Rechte liegen in der Regel bei den Herausgebern beziehungsweise den externen Rechteinhabern. [Siehe Rechtliche Hinweise.](#)

Conditions d'utilisation

L'ETH Library est le fournisseur des revues numérisées. Elle ne détient aucun droit d'auteur sur les revues et n'est pas responsable de leur contenu. En règle générale, les droits sont détenus par les éditeurs ou les détenteurs de droits externes. [Voir Informations légales.](#)

Terms of use

The ETH Library is the provider of the digitised journals. It does not own any copyrights to the journals and is not responsible for their content. The rights usually lie with the publishers or the external rights holders. [See Legal notice.](#)

Download PDF: 06.10.2024

ETH-Bibliothek Zürich, E-Periodica, <https://www.e-periodica.ch>

LITERATURVERZEICHNIS

- 1 Blaschke W.: *Kinematik und Quaternionen* (VEB Deutscher Verlag der Wissenschaften, Berlin 1960).
- 2 Krames J.: *Über Fusspunktkurven von Regelflächen und eine besondere Klasse von Raumbewegungen (Über symmetrische Schrotungen I)*. Monatsh. Math. Phys. 45, 394–406 (1937).
- 3 Tarnai T. and Makai E. jr.: *A Movable Pair of Tetrahedra*. Im Druck.

© 1988 Birkhäuser Verlag, Basel

0013-6018/88/030065-11\$1.50 + 0.20/0

A new geometric inequality

Let $\omega \in (0, \pi)$ be defined by the equation

$$\cot \omega = \cot \alpha_1 + \cot \alpha_2 + \cot \alpha_3 \tag{1}$$

where $\alpha_1, \alpha_2, \alpha_3$, are positive numbers satisfying

$$\alpha_1 + \alpha_2 + \alpha_3 = \pi . \tag{2}$$

If α_1, α_2 and α_3 are interpreted as the three angles of a triangle (T), then ω is called the Brocard angle of (T) and there exists a number of identities relating ω and α_1, α_2 and α_3 [4]. This note is concerned with the problem of finding inequalities between ω and α_1, α_2 and α_3 . Since the appearance of [1], this problem has received much attention. At present the following inequalities are known [1–3].

$$2 \omega \leq \frac{1}{3} (\alpha_1 + \alpha_2 + \alpha_3) = \frac{\pi}{3} . \tag{3}$$

This is the oldest known inequality and follows from the inequality $\cot^2 \omega \geq 3$ which is readily obtained from (1). The next inequality is

$$2 \omega \leq \sqrt[3]{\alpha_1 \alpha_2 \alpha_3} \tag{4}$$

which was proved in [1]. It is sharper than (3).

In [2] it was shown that

$$\omega^3 \leq (\alpha_1 - \omega) (\alpha_2 - \omega) (\alpha_3 - \omega) , \tag{5}$$

an inequality that implies (4).

Using the method of Lagrange multipliers, Mascioni [5] proved the inequality

$$2 \omega \leq 3 \left(\sum 1/\alpha_i \right)^{-1} . \tag{6}$$

This inequality is sharper than (4), since the harmonic mean of three numbers is less than or equal to their geometric mean. A different proof of (6) appears in [3]. Since

(5) implies that ω is less than or equal to the geometric mean of $\alpha_1 - \omega$, $\alpha_2 - \omega$ and $\alpha_3 - \omega$, it is natural to ask how ω is related to their harmonic mean. In the present note we prove

Theorem 1. *If ω is defined by (1) and (2) then*

$$\omega \geq 3 \left\{ \sum 1/(\alpha_i - \omega) \right\}^{-1}. \quad (7)$$

Equality holds if and only if $\alpha_1 = \alpha_2 = \alpha_3 = \pi/3$.

Proof: Let $f(x) = \cot x - \frac{1}{x}$ where $0 < x < \pi$.

Then $f'(x) = -\frac{1}{\sin^2 x} + \frac{1}{x^2}$ and $f''(x) = 2 \csc^3 x \left\{ \cos x - \left(\frac{\sin x}{x} \right)^3 \right\}$. Since $\sin x < x$

for $0 < x < \pi$ we have $f'(x) < 0$. In [5], it was shown that $\left(\frac{\sin x}{x} \right)^3 > \cos x$ in $(0, \pi)$.

Then $f''(x) < 0$ in $(0, \pi)$. It follows that f is a concave decreasing function in $(0, \pi)$. In particular, if x_1, x_2, \dots, x_6 are six numbers in $(0, \pi)$, then

$$f\left(\frac{x_1 + x_2 + \dots + x_6}{6}\right) \geq \frac{1}{6} \{f(x_1) + f(x_2) + \dots + f(x_6)\}.$$

If this inequality is used with the six numbers $\alpha_1 - \omega, \alpha_2 - \omega, \alpha_3 - \omega, \omega, \omega, \omega$, all of which lie in $(0, \pi)$ we obtain

$$\begin{aligned} \sum_{i=1}^3 \left\{ \cot(\alpha_i - \omega) - \frac{1}{\alpha_i - \omega} + \cot \omega - \frac{1}{\omega} \right\} &\leq 6 \left\{ \cot(\pi/6) - (6/\pi) \right\} \\ &\leq 6 \left\{ \cot \omega - \frac{1}{\omega} \right\}, \end{aligned} \quad (8)$$

where the last inequality follows because $\omega \leq \pi/6$ and $\cot x - 1/x$ is decreasing in $(0, \pi)$.

From (8) we obtain

$$\sum_{i=1}^3 \{ \cot(\alpha_i - \omega) - \cot \omega \} + 3/\omega \leq \sum_{i=1}^3 \frac{1}{\alpha_i - \omega}. \quad (9)$$

The proof of (7) will be complete if we show that the sum on the left-hand side of (9) is positive. This is the difficult part of the proof. It depends, in part, on the following identities satisfied by ω . Their derivation is quite easy.

$$(i) \quad \cot \alpha_1 \cot \alpha_2 + \cot \alpha_2 \cot \alpha_3 + \cot \alpha_3 \cot \alpha_1 = 1;$$

$$(ii) \quad \prod_{i=1}^3 (\cot \omega - \cot \alpha_i) = \prod_{i=1}^3 \csc \alpha_i;$$

$$(iii) \sum_{i=1}^3 \csc^2 \alpha_i = \csc^2 \omega ; \tag{10}$$

$$(iv) \sum_{i=1}^3 \csc^4 \alpha_i + 4 \cot \omega \prod_{i=1}^3 \csc \alpha_i = \csc^4 \omega .$$

We now consider the sum on the left-hand side of (9). We have

$$\begin{aligned} \cot(\alpha_i - \omega) - \cot \omega &= \frac{\cot \alpha_i \cot \omega + 1}{\cot \omega - \cot \alpha_i} - \cot \omega = \frac{-\cot^2 \omega + 2 \cot \omega \cot \alpha_i + 1}{\cot \omega - \cot \alpha_i} \\ &= -(\cot \omega - \cot \alpha_i) + \frac{\csc^2 \alpha_i}{\cot \omega - \cot \alpha_i} . \end{aligned}$$

Thus

$$\sum_{i=1}^3 \{\cot(\alpha_i - \omega) - \cot \omega\} = -2 \cot \omega + \sum_{i=1}^3 \frac{\csc^2 \alpha_i}{\cot \omega - \cot \alpha_i} . \tag{11}$$

From (10; (i)) we have

$$\begin{aligned} \cot \alpha_1 \cot \alpha_2 &= 1 - \cot \alpha_3 (\cot \alpha_1 + \cot \alpha_2) = 1 - \cot \alpha_3 (\cot \omega - \cot \alpha_3) \\ &= \csc^2 \alpha_3 - \cot \alpha_3 \cot \omega . \end{aligned}$$

Thus

$$\begin{aligned} &(\cot \omega - \cot \alpha_1) (\cot \omega - \cot \alpha_2) \\ &= \cot^2 \omega - \cot \omega (\cot \alpha_1 + \cot \alpha_2) + \csc^2 \alpha_3 - \cot \alpha_3 \cot \omega = \csc^2 \alpha_3 . \end{aligned} \tag{12}$$

A similar formula holds for $\csc^2 \alpha_1$ and $\csc^2 \alpha_2$. Returning to the second sum in (11) and using ((10); (ii)) and (12) we obtain

$$\sum_{i=1}^3 \frac{\csc^2 \alpha_i}{\cot \omega - \cot \alpha_i} = \frac{1}{\prod_{i=1}^3 (\cot \omega - \cot \alpha_i)} \sum_{i=1}^3 \csc^4 \alpha_i = \frac{1}{\prod_{i=1}^3 \csc \alpha_i} \sum_{i=1}^3 \csc^4 \alpha_i . \tag{13}$$

If we use (13) in (11) and then use ((10); (iv)) we obtain

$$\begin{aligned} \sum_{i=1}^3 \{\cot(\alpha_i - \omega) - \cot \omega\} &= \frac{1}{\prod_{i=1}^3 \csc \alpha_i} \left\{ \sum_{i=1}^3 \csc^4 \alpha_i - 2 \cot \omega \prod_{i=1}^3 \csc \alpha_i \right\} \\ &= \frac{1}{\prod_{i=1}^3 \csc \alpha_i} \left\{ \sum_{i=1}^3 \csc^4 \alpha_i + \frac{1}{2} \sum_{i=1}^3 \csc^4 \alpha_i - \frac{1}{2} \csc^4 \omega \right\} = \frac{1}{2 \prod_{i=1}^3 \csc \alpha_i} \left\{ 3 \sum_{i=1}^3 \csc^4 \alpha_i - \csc^4 \omega \right\} . \end{aligned} \tag{14}$$

Now, from ((10); (iii)) we have

$$\{\csc^2 \omega\}^2 = \left\{ \sum_{i=1}^3 \csc^2 \alpha_i \right\}^2 \leq 3 \sum_{i=1}^3 \csc^4 \alpha_i. \quad (15)$$

Thus the right-hand side of (14) is positive; it is zero if and only if $\alpha_1 = \alpha_2 = \alpha_3$. It follows that the right-hand in (9) is greater than or equal to $3/\omega$ with equality if and only if $\alpha_1 = \alpha_2 = \alpha_3$. This finishes the proof of Theorem 1.

We end this note by remarking that a straightforward application of Holder's inequality on (7) gives

$$\frac{3}{\omega^\lambda} \leq \sum_{i=1}^3 \frac{1}{(\alpha_i - \omega)^\lambda} \quad (16)$$

for every $\lambda \geq 1$.

Faruk Abi-Khuzam
American University of Beirut, Lebanon

REFERENCES

- 1 Abi-Khuzam F.: Proof of Yff's Conjecture on the Brocard Angle of a Triangle. *El. Math.* 29, 141–142 (1974).
- 2 Abi-Khuzam F.: Inequalities of Yff-type in the Triangle. *El. Math.* 35, 80–81 (1980).
- 3 Abi-Khuzam F. and Boghossian A.: On Some Geometric Inequalities, to appear.
- 4 Johnson R.: *Advanced Euclidean Geometry*. Dover Pbl., N.Y. (1960).
- 5 Mascioni V.: Zur Abschätzung des Brocardschen Winkels. *El. Math.* 41, 98–101 (1986).

© 1988 Birkhäuser Verlag, Basel

0013-6018/88/030078-04\$1.50 + 0.20/0

On some inequalities connected with Fermat's equation

1. Introduction

In 1856 I. A. Grünert ([3], see also [6] p. 226) proved that if n is an integer, $n \geq 2$ and $0 < x < y < z$ are real numbers satisfying the equation

$$x^n + y^n = z^n \quad (1)$$

then

$$z - y < \frac{x}{n}. \quad (2)$$

This result was rediscovered by G. Tows [7], and then by D. Zeitlin [8].